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Example Solution

1. Draw a line segment 6.0 cm long and draw

its perpendicular bisector

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lrPaTm8OKzOo


Watch Video Solution

2. To construct an angle of  at the initial

point of a given ray.

Watch Video Solution

60∘

3. Draw an angle of . Draw its bisector.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_lrPaTm8OKzOo
https://dl.doubtnut.com/l/_TOcOtr0JcVMR
https://dl.doubtnut.com/l/_qF8S7jsV9gxT


4. Construct a  in which AB = 4 cm, BC =

5.2 cm and CA = 4.5 cm.

Watch Video Solution

ΔABC

5. Construct a  in which AB = 5 cm, AC =

4.5 cm and .

Watch Video Solution

ΔABC

∠A = 60∘

https://dl.doubtnut.com/l/_HLXdhuLduH6j
https://dl.doubtnut.com/l/_21D5zgLPpKEr


6. Construct a triangle ABC in which

Watch Video Solution

BC = 5cm, ∠B = 60∘ and ∠C = 45∘ .

7. Construct a right-angled triangle ABC in

which , BC = 6 cm and AB = 4.8 cm.

Watch Video Solution

∠A = 90∘

https://dl.doubtnut.com/l/_TCJqNlLCGiq8
https://dl.doubtnut.com/l/_vjUjDK0oehk7


8. Construct an isosceles triangle whose base

is 6 cm and altitude is 4 cm.

Watch Video Solution

9. Construct an isosceles triangle whose

vertical angle is  and the altitude is 4.6 cm.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_skimIewjEcKS
https://dl.doubtnut.com/l/_Ry6iG8KbPJvm


10. Construct a  in which AB = 5 cm, AC

+ BC = 8 cm and .

Watch Video Solution

ΔABC

∠B = 60∘

11. Construct a  in which base BC = 5.2

cm,  and AB - AC = 2 cm.

Watch Video Solution

ΔABC

∠ABC = 50∘

https://dl.doubtnut.com/l/_3cMCJrU3jTdv
https://dl.doubtnut.com/l/_hCAflRDM8kSo


12. Construct  in which BC = 5.2 cm, 

 and AC - AB = 2 cm.

Watch Video Solution

ΔABC

∠B = 50∘

13. Construct a  whose perimeter is

10.5 cm and the base angles are  and

45^(@)`.

Watch Video Solution

ΔABC

60∘

https://dl.doubtnut.com/l/_BgBoAu1IAhzU
https://dl.doubtnut.com/l/_ERRqrDkwkxMV


14. Construct a  in which AB = 4 cm, AC

= 5 cm and the altitude from A to BC is 2.5 cm.

Watch Video Solution

ΔABC

15. Construct a  whose perimeter is 14

cm and sides are in the ratio .

Watch Video Solution

ΔABC

2: 3: 4

https://dl.doubtnut.com/l/_l9HMT2tbA68V
https://dl.doubtnut.com/l/_tx6b4FsSgVhs


16. Construct a triangle ABC in which BC = 8cm,

 and AB - AC = 3.5 cm.

Watch Video Solution

∠B = 45∘

17. Construct a  in which QR = 6 cm, 

 and PR - PQ = 2 cm.

Watch Video Solution

ΔABC

∠Q = 60∘

https://dl.doubtnut.com/l/_koHXI5Hpr0G9
https://dl.doubtnut.com/l/_gBxt9cl7Q0Ig


Exercise

18. Construct a
 right triangle whose base is


 and sum of
 its hypotenuse and other

side is 

Watch Video Solution

12cm

18cm

19. An equilateral triangle if its altitude is 3.2

cm.

Watch Video Solution

https://dl.doubtnut.com/l/_aOJH075Fl9Qu
https://dl.doubtnut.com/l/_RGaPvEA1vKGk


1. Construct an angle of  at the initial point

of a given ray and justify the construction.

Draw its angle bisector.

Watch Video Solution

90∘

2. Construct the following angles : 

(i)  (ii)  (iii) 

Watch Video Solution

60∘ 30∘ 15∘

https://dl.doubtnut.com/l/_jGaFDdP6GTzi
https://dl.doubtnut.com/l/_sbd1T75CFVzR
https://dl.doubtnut.com/l/_IuTlcZdjfQPZ


3. Construct the following angles : 

(i)  (ii)  (iii) 

Watch Video Solution

90∘ 45∘ 75∘

4. Construct the following angles : 

(i)  (ii)  (iii) 

Watch Video Solution

67
1∘

2
22

1∘

2
37

1∘

2

5. Draw a line 6.5 cm long. Draw its

perpendicular bisector.

https://dl.doubtnut.com/l/_IuTlcZdjfQPZ
https://dl.doubtnut.com/l/_b0r06G5QYbC5
https://dl.doubtnut.com/l/_yYfpHiLnjS7T


Watch Video Solution

6. Construct a , when AB = 6.0 cm, BC =

8.0 cm, AC = 7.5 cm.

Watch Video Solution

ΔABC

7. Construct a , when AB = 3.6 cm, BC =

3.0 cm, .

Watch Video Solution

ΔABC

∠B = 30∘

https://dl.doubtnut.com/l/_yYfpHiLnjS7T
https://dl.doubtnut.com/l/_K1kDSErWz4b4
https://dl.doubtnut.com/l/_60u203siA5v8
https://dl.doubtnut.com/l/_9J8YaKkgCRkH


8. Construct a , when AB = 5.2 cm, 

 and .

Watch Video Solution

ΔABC

∠A = 30∘ ∠B = 75∘

9. Construct a triangle ABC in which

Watch Video Solution

BC = 5cm, ∠B = 60∘ and ∠C = 45∘ .

https://dl.doubtnut.com/l/_9J8YaKkgCRkH
https://dl.doubtnut.com/l/_4hTgaQKlzKFU


10. Construct an isosceles  in which

base BC = 5 cm and side AB = 4 cm.

Watch Video Solution

ΔABC

11. Construct an isosceles  in which

base BC = 5 cm and .

Watch Video Solution

ΔABC

∠B = 60∘

https://dl.doubtnut.com/l/_nLtCnflzdjFy
https://dl.doubtnut.com/l/_YCT1QNkNqJg7


12. Construct a right angled , right

angled at A if hypotenuse BC = 5 cm and side

AB = 3 cm.

Watch Video Solution

ΔABC

13. Construct an equilateral triangle whose

side is 5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_Okxe7a7QSg6W
https://dl.doubtnut.com/l/_wAyvVaBWIYth


14. Construct an equilateral triangle whose

altitude is 4 cm.

Watch Video Solution

15. Construct a  in which AB = 5 cm, BC

= AC cm . Draw the perpendicular

bisector of AB and BC. If these bisector

intersect at O. Measure OA and OB.

Watch Video Solution

ΔABC

∠A = 60∘

https://dl.doubtnut.com/l/_7Gi0O1LBEGUW
https://dl.doubtnut.com/l/_9dqkxOLY5OiZ
https://dl.doubtnut.com/l/_CiBdMdJQD1as


16. Construct a  in which AB = 5 cm, 

 and . Draw the bisector

of  and . If these bisectors intersect at

M. Measure CM.

Watch Video Solution

ΔABC

∠A = 60∘ ∠B = 45∘

∠A ∠B

17. Construct a  in which BC = 4 cm, 

 and AB + AC = 6.5 cm.

Watch Video Solution

ΔABC

∠B = 60∘

https://dl.doubtnut.com/l/_CiBdMdJQD1as
https://dl.doubtnut.com/l/_Eu2u4QK8al5H
https://dl.doubtnut.com/l/_Ku5rkhV6ueYZ


18. Construct a  in which AB = 5.1 cm, 

 and BC + AC = 7 cm.

Watch Video Solution

ΔABC

∠B = 40∘

19. Construct a  in which 

and AB = 4.5 cm and AC - BC = 1.2 cm.

Watch Video Solution

ΔABC ∠A = 30∘

20. Construct a  in which BC = 4.8 cm, 

 and AC - AB = 1.4 cm.

ΔABC

∠B = 60∘

https://dl.doubtnut.com/l/_Ku5rkhV6ueYZ
https://dl.doubtnut.com/l/_hx8rCneRwh2k
https://dl.doubtnut.com/l/_j7tO3mgjJRtT


Watch Video Solution

21. Construct a
triangle 
whose
perimeter

is equal to 

Watch Video Solution

PQR

14cm,  ∠p = 450 and ∠q = 600

22. Construct a right angled triangle ABC

whose base BC is 6 cm and the sum of

hypotenuse AC and other side AB is 10 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_j7tO3mgjJRtT
https://dl.doubtnut.com/l/_5eQSZaVOQFqe
https://dl.doubtnut.com/l/_omMeNZyma5hC


23. Construct a  in which BC = 4.2 cm,

AB = 4.6 cm and the altitude from B to AC is 3

cm.

Watch Video Solution

ΔABC

24. Construct a  whose perimeter is 15

cm and sides are in the ratio .

Watch Video Solution

ΔABC

4: 5: 6

https://dl.doubtnut.com/l/_omMeNZyma5hC
https://dl.doubtnut.com/l/_Izl2tNcWpUHX
https://dl.doubtnut.com/l/_3G8nfhLz65eU
https://dl.doubtnut.com/l/_2dmS5jYewC4j


25. Construct the following angles : 

(i)  (ii)  (iii)  (iv)  (v) 

Watch Video Solution

60∘ 90∘ 120∘ 180∘ 270∘

26. Construct the following angles : 

(i)  (ii) 

Watch Video Solution

45∘ 135∘

27. Draw a line 6.0 cm long. Draw its

perpendicular bisector.

https://dl.doubtnut.com/l/_2dmS5jYewC4j
https://dl.doubtnut.com/l/_HhacY0Um1J4q
https://dl.doubtnut.com/l/_V9vFjeW1KMcj


Watch Video Solution

28. Construct a  with sides AB = 6 cm,

BC = 5.2 cm and AC = 4.6 cm.

Watch Video Solution

ΔABC

29. Construct a  in which AB = 6.3 cm,

AC = 4.5 cm and .

Watch Video Solution

ΔABC

∠A = 45∘

https://dl.doubtnut.com/l/_V9vFjeW1KMcj
https://dl.doubtnut.com/l/_dAWddJcuaGUY
https://dl.doubtnut.com/l/_btgKX8J0vuLv
https://dl.doubtnut.com/l/_D3M0bXqoAfoP


30. Construct a  in which BC = 5.5 cm, 

 and .

Watch Video Solution

ΔABC

∠B = 60∘ ∠C = 75∘

31. Construct a  right angled at B in

which BC = 6.0 cm and AC = 8.0 cm.

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_D3M0bXqoAfoP
https://dl.doubtnut.com/l/_4ICFxddO8BW4


32. Construct a  in which BC = 5.7 cm, 

 and AB + AC = 8.2 cm.

Watch Video Solution

ΔABC

∠B = 45∘

33. Construct a  in which 

AB=5cm and AC - BC = 1.5 cm.

Watch Video Solution

ΔABC ∠A = 60∘

https://dl.doubtnut.com/l/_eHVombHw5MFM
https://dl.doubtnut.com/l/_HYzB6hN7PM5I


34. Construct a  in which , 

 and AB + BC + AC = 11.6 cm.

Watch Video Solution

ΔABC ∠A = 60∘

∠B = 45∘

35. Construct a  in which AB = 3 cm, 

 and BC - AC = 1 cm.

Watch Video Solution

ΔABC

∠A = 90∘

https://dl.doubtnut.com/l/_JJk4tNz90eXO
https://dl.doubtnut.com/l/_3VqrSfMkLdco


36. Construct a  whose perimeter is 10

cm and length of its sides is .

Watch Video Solution

ΔABC

3: 2: 5

https://dl.doubtnut.com/l/_Vh1sP06Xub0l

